

Kansas Corporation Commission Oil & Gas Conservation Division

1151169

Form ACO-1
June 2009
Form Must Be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R
Address 2:	Feet from North / South Line of Section
City:	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	County:
Name:	Lease Name: Well #:
Wellsite Geologist:	Field Name:
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
New Well Re-Entry Workover	Total Depth: Plug Back Total Depth:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Amount of Surface Pipe Set and Cemented at: Feet Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Feet If Alternate II completion, cement circulated from: sx cmt
Operator:	
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth: Deepening Re-perf. Conv. to ENHR Conv. to SWD Conv. to GSW	Chloride content: ppm Fluid volume: bbls Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	Quarter Sec Twp S. R
☐ ENHR Permit #: ☐ GSW Permit #:	County: Permit #:
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY						
Letter of Confidentiality Received						
Date:						
Confidential Release Date:						
Wireline Log Received						
Geologist Report Received						
UIC Distribution						
ALT I II Approved by: Date:						

Side Two

1151169

Operator Name:			Lease Name: _			Well #:	
Sec Twp	S. R	East West	County:				
time tool open and clo	osed, flowing and shu es if gas to surface te	d base of formations pen t-in pressures, whether s st, along with final chart(s well site report.	hut-in pressure read	ched static level,	hydrostatic press	ures, bottom h	ole temperature, fluid
Drill Stem Tests Taker (Attach Additional		Yes No		og Formation	n (Top), Depth an	d Datum	Sample
Samples Sent to Geo	logical Survey	☐ Yes ☐ No	Nam	е		Тор	Datum
Cores Taken Electric Log Run Electric Log Submitte (If no, Submit Cop)	d Electronically	Yes No Yes No Yes No					
List All E. Logs Run:							
		Report all strings set-		ermediate, producti		T 2 .	
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
		ADDITIONAL	CEMENTING / SQL	JEEZE RECORD	I		
Purpose: —— Perforate —— Protect Casing —— Plug Back TD	Depth Top Bottom	Type of Cement	# Sacks Used		Type and P	ercent Additives	
Plug Off Zone							
Shots Per Foot		DN RECORD - Bridge Plug Footage of Each Interval Perl			cture, Shot, Cement mount and Kind of Ma		d Depth
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	Yes No		
Date of First, Resumed	Production, SWD or EN	HR. Producing Meth		Gas Lift C	other (Explain)		
Estimated Production Per 24 Hours	Oil I	Bbls. Gas	Mcf Wat	er Bl	ols. G	Gas-Oil Ratio	Gravity
DISPOSITI	ON OF GAS:	N.	METHOD OF COMPLE	ETION:		PRODUCTIO	ON INTERVAL:
Vented Solo	Used on Lease	Open Hole	Perf. Dually		nmingled mit ACO-4)		
(If vented, Su	bmit ACO-18.)	Othor (Specify)	(SubMit i	100-0) (SUDI	IIII ACO-4)		

GEOLOGIST'S REPORT

COMPANY BONEER RESOURCES	ELEVATIONS
LEASE FOUNDATION NO 3	KB
FIELD	DF 1879'
LOCATION NE SWSWSW	GL 1873'
SEC 35 TWSP 4 RGE 18 w	Measurements Are All
COUNTY PHILLIPS STATE KANSAS	From K. B.
CONTRACTOR DISCOVERY Dels Rig 1	SURFACE 8 2/8 4/5
SPUD 5-20-13COMP 5-25-13	PRODUCTION D. S. A.
RTD 3322' LTD	ELECTRICAL SURVEYS
MUD UP 2650 TYPE MUD CHEMICAL	NONE

FORMATION TOPS AND STRUCTURAL POSITION

FORMATION	SAMPLE TOP	ELECTRIC LOG TOP	SUB-SEA DATUM	STRUCTURAL POSITION		
FORMATION				A	В	C
NHYDRITE	1311		+570	+574	+581	
OPEKA	2821'		-940	-933	-939	
EEBNER	3025'		-1144	-1/35	-1/39	
DRONTO	3049		-1168	-1159	1162	
ANSIAK-K.C.	3066		-1185	-1176	1180	
BASE-RC.	3292'		-1411	1402	1405	
R.T.D.	3322'		-1441	1446	-/434	
4.T.D.				1445	1432	
2						
				-		

REFERENCE WELLS FOR STRUCTURE

A OZARK ENTERYPISES HEMSTRONG # 4/ C 11/2 NWNL. 2

QUALITY OILWELL CEMENTING, INC. Federal Tax I.D.# 20-2886107

Phone 785-483-2025 Cell 785-324-1041

Home Office P.O. Box 32 Russell, KS 67665

No. 6951

5 00 12 Sec		Range	Count	у	State	On Location	Finish		
Date 5 20 13 3	5 4	8	PhILL		KANSAS		12:00		
The state of the s	Г	Ho	Location S			NE 1/20 41	O- E/TNO		
CONTROVINO PERSON		Well No. #3			Iwell Cementing, Inc.				
Contractor NESCOVERY			You	are here	by requested to rent	cementing equipment			
Type Job SURFACE		1			d helper to assist own	ner or contractor to de	o work as listed.		
Hole Size 12 14"	T.D.	219	To	TO PRONEER RESOURCES					
Csg. 878-23 NEW	Depth	219'	Stree	et 80	MINOMILL	De.	34016 =		
Tbg. Size	Depth		City	Phi	LEPSBURG	State KS, L	ollolel		
Tool	Depth		The a	above was	s done to satisfaction ar	nd supervision of owner	agent or contracto		
Cement Left in Csg.	Shoe J	oint 15	Cem	ent Amo	unt Ordered 150	com-320-	Jael		
Meas Line	Displac	e 1336L	S		Control of Column				
A STATE OF THE PARTY OF THE PAR	PMENT		Com	mon/	50	Emport as or a lea	and YTL,		
Pumptrk 15 No. Cementer Helper NJ	KI.		Poz.		FARMACOT IN				
Bulktrk#13 No. Driver Driver LON	10 finit block	en Asia Ta	Gel.	-	3	# ASSESSMENT PROFES			
Bulktrk Du No. Driver CT:			Calc	Calcium 5					
JOB SERVICE		RKS	Hulls	Hulls					
Remarks:	d tel utdat	nd can have h	Salt	Salt					
Rat Hole	with the manage		Flow	seal	or self to openion of the	quart man galetie a	PARTIES NO. 100 IN THE		
Mouse Hole			Kol-S	Seal		price plant			
Centralizers	a ker soo	ght by our po-	Mud	Mud CLR 48					
Baskets			CFL-	-117 or 0	D110 CAF 38		1111		
D/V or Port Collar	M-Jan Hilly	Interioran h	Sand		DATE OF THE PARTY	IN COMPANSA			
Consults an evel revision received to a	EVENTA I	S S YILKIN	Hand	dling /	58	off of the apt at age	ab some		
CEMENT DI	CTP	CILLATE					Control of the Contro		
CEIDENT		LULATE	B		FLOAT EQUIPMI	ENT	of Printer on Say		
myrata is notae Isolanda lea		The second	Guid	le Shoe					
				tralizer	P. 127 1971	se come to make a	company of contrar		
Displets SYTLIALID Bearing	her backs		Bask						
orati er marke satzepetare er yra	הלפות וטר א	out la Hau		Inserts			STREET STREET		
O YTUBETY/WCHROLOTT	TTYLEND	AVI VILL SUPE		t Shoe					
or president matterers of a				h Down					
			Lator	DOWN		-47	0 1000 00 00		
4					Confere	,	Other		
	- 11 2 13 60	SURE DE SET	Pum	ptrk Cha	Surface	there ?	Stan		
+110000	101.		Milea	2.4	2/2/	y oresing -	7070		
THANK '	you,		Willed	age of	36	Tax			
						Discount			
x arxha tal			No. Co. Co. Co.						
Signature (If) May	ele					Total Charge	MOTEOU DE D		



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Pioneer Resources LLC 80 Windmill Drive Phillipsburg, KS 67661



Invoice Number: 136412

Invoice Date: May 25, 2013

Page:

1

Now Includes:



Customer ID	Field Ticket #	Payment Terms		
PioRes	56610	Net 30	Days	
Job Location	Camp Location	Service Date	Due Date	
KS2-03	Russell	May 25, 2013	6/24/13	

Quantity	Item	Description	Unit Price	Amount
		Foundation #3		
132.00	MAT	Class A Common	17.90	2,362.8
88.00	MAT	Pozmix	9.35	822.8
7.57	MAT	Gel	23.40	177.1
50.00	MAT	Flo Seal	2.97	148.5
235.95	SER	Cubic Feet	2.48	585.
542.49	SER	Ton Mileage	2.60	1,410.
1.00	SER	Plug to Abandon	2,213.75	2,213.
55.00	SER	Pump Truck Mileage	7.70	423.
55.00	SER	Light Vehicle Mileage	4.40	242.
1.00	EQP	8.5/8 Wooden Plug	107.64	107.
1.00	CEMENTER	Tony Pfannenstiel		
1.00	OPER ASSIST	Nathan Donner		
1.00	EQUIP OPER	Kevin Rupp		
		Pd 6/68 52		
DDIOES AD	E NET, PAYABLI	Subtotal		8,493.

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

2,718.00

ONLY IF PAID ON OR BEFORE Jun 19, 2013 Subtotal 8,493.76
Sales Tax 392.76
Total Invoice Amount 8,886.52
Payment/Credit Applied
TOTAL 8,886.52

27 18.00

Le168.57